
Name: __________________________________________________________________________  Period __________ 

Unit 3 Industrial Revolution Performance Task A 

Prompt A: Explain three reasons why England was the first country to industrialize. (Standard 10.3.1) 

4.0 In addition to score 3.0 performance, the response may 
 compare and contrast England’s factors to those in other countries 
 explain more than three factors 

3.0  Describe three factors that contributed to England’s lead in industrialization. 
 Explain how each factor helped England industrialize first 

2.0  Describe three factors that contributed to England’s lead in industrialization. 

1.0 Partial understanding of some of the simple details of the 2.0 content, but not the 3.0 content 

0 No understanding demonstrated 

 

England was the first to industrialize because of (list the five factors) ___________________________________ 

__________________________________________________________________________________________________

__________________________________________________________________________________________________ 

One factor involved was _____________________________________________________________________. 

_________________________________________________________________ is (define/describe) ________________ 

__________________________________________________________________________________________________ 

__________________________________________________________________________________________________

This helped England industrialize first because (explain) ____________________________________________________ 

__________________________________________________________________________________________________

__________________________________________________________________________________________________

_________________________________________________________________________________________________ 

Another factor involved was _____________________________________________________________________. 

_________________________________________________________________ is (define/describe) ________________ 

__________________________________________________________________________________________________ 

__________________________________________________________________________________________________

This helped England industrialize first because (explain) ____________________________________________________ 

__________________________________________________________________________________________________

__________________________________________________________________________________________________

_________________________________________________________________________________________________ 

A third factor involved was _____________________________________________________________________. 

_________________________________________________________________ is (define/describe) ________________ 

__________________________________________________________________________________________________ 

__________________________________________________________________________________________________ 



This helped England industrialize first because (explain) ____________________________________________________ 

__________________________________________________________________________________________________

__________________________________________________________________________________________________

_________________________________________________________________________________________________ 

Complete below to move to the 4/A range. 

Fourthly, __________________________________________________________________ was another factor involved. 

_________________________________________________________________ is (define/describe) ________________ 

__________________________________________________________________________________________________ 

__________________________________________________________________________________________________

This helped England industrialize first because (explain) ____________________________________________________ 

__________________________________________________________________________________________________

__________________________________________________________________________________________________

_________________________________________________________________________________________________ 

Lastly, __________________________________________________________________ was another factor involved. 

_________________________________________________________________ is (define/describe) ________________ 

__________________________________________________________________________________________________ 

__________________________________________________________________________________________________

This helped England industrialize first because (explain) ____________________________________________________ 

__________________________________________________________________________________________________

__________________________________________________________________________________________________

_________________________________________________________________________________________________ 


